| | Number of | | Yield per | Total | Units of | Gross Farm |
|-----------------------------|-----------|---------|-----------|------------|-------------|--------------|
| Crop | Producers | Acres | Acre | Production | Measure | Value |
| FORESTRY | | | | | | |
| Pulpwood | | | | | | |
| Pine | | | | 163,992 | cords | |
| Hardwood | | | | 40,280 | cords | |
| Pulpwood (Total) | | | | 204,272 | | |
| Chip & Saw (Total) | | | | 2,021 | cords | |
| Saw Timber | | | | | | |
| Pine | | | | 48,856,237 | board feet | |
| Hardwood | | | | 6,125,501 | board feet | |
| Saw Timber (Total) | | | | 54,981,738 | | |
| Total Pulpwood, Chip & Saw, | | | | | | \$44,774,172 |
| Saw Timber FOB Mill | | | | | | |
| Total Forestry Stumpage | | | | | | \$24,412,444 |
| (Total) | | | | | | |
| Christmas Trees (Total) | * | | | 1,000 | trees | \$40,000 |
| Forestry (Total) | | | | | | \$44,814,172 |
| FRUITS | | | | | | |
| Peaches (Total) | 6 | 90.0 | 145.00 | 13,050 | bu. | \$522,000 |
| Fruits (Total) | | 90.0 | | | | \$522,000 |
| FEED GRAINS | | | | | | |
| Corn (Total) | 7 | 236.0 | 82.00 | 19,352 | bu. | \$51,283 |
| Feed Grains (Total) | | 236.0 | | | | \$51,283 |
| HAY FOR SALE | | | | | | |
| Grass (Total) | 10 | 900.0 | 1.00 | 900 | tons | \$83,160 |
| Hay for Sale (Total) | | 900.0 | | | | \$83,160 |
| Home Gardens (Total) | 1,375 | | | | | \$275,000 |
| Rice (Total) | 15 | 9,831.0 | 57.94 | 569,608 | cwt. | \$5,069,511 |
| Soybeans (Total) | 9 | 740.0 | 36.00 | 26,640 | bu. | \$156,004 |
| VEGETABLES | | | | | | |
| Cantaloupe (Total) | 6 | 35.0 | 3.00 | 105 | cartons (40 | \$1,830 |
| | | | | | lbs.) | |
| ALLEN PARISH | | | | | | |

\$1,125

Alligators (Wild) (Total)

PLANT ENTERPRISES PRODUCTION

| | Number of | | Yield per | Total | Units of | Gross Farm |
|-------------------------|-----------|-----------|-----------------------|------------|--------------|--------------|
| Crop | Producers | Acres | Acre | Production | Measure | Value |
| VEGETABLES | | | | | | |
| Mustard (Fresh) (Total) | 12 | 7.0 | 535.00 | 3,745 | doz. bunches | \$26,215 |
| Okra (Fresh) (Total) | 15 | 20.0 | 150.00 | 3,000 | bu. | \$90,000 |
| Watermelon (Total) | * | 45.0 | 175.00 | 7,875 | cwt. | \$63,000 |
| Vegetables (Total) | | 107.0 | | | | \$181,045 |
| TOTAL ALL PLANT ENTER | PRISES | | | | | \$51,152,175 |
| | FISHERI | ES & WILD | LIFE ENTERPRISES PROI | DUCTION | | |
| | Number of | | Units of | Total | Units of | Gross Farm |
| Fisheries | Producers | | Production | Production | Measure | Value |
| AQUACULTURE | | | | | | |
| Crawfish (Farm) (Total) | 22 | | 1,200 Acres in Prod. | 840,000 | lbs. | \$1,008,000 |
| Aquaculture (Total) | | | | | | \$1,008,000 |

45 ft.

HUNTING LEASES

All Other Game (Total) 1,125 275,000 No. Acres acre \$1,925,000

Leased

Hunting Leases (Total) \$1,925,000 TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES \$2,934,125

TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES

ANIMAL ENTERPRISES PRODUCTION

| A · 1 | Number of | Units of | Total | Units of | Gross Farm |
|---------------------------|-----------|----------------|------------|----------|-------------|
| Animal | Producers | Production | Production | Measure | Value |
| CATTLE & CALVES | | | | | |
| Steer Calves | | | | | |
| 300-400 lbs. | | | 924 | head | \$459,325 |
| 400-500 lbs. | | | 1,078 | head | \$601,281 |
| 500-600 lbs. | | | 770 | head | \$471,398 |
| 600-700 lbs. | | | 308 | head | \$211,712 |
| Steer Calves (Total) | | | | | \$1,743,716 |
| Heifer Calves | | | | | |
| 300-400 lbs. | | | 924 | head | \$407,904 |
| 400-500 lbs. | | | 1,078 | head | \$562,473 |
| 500-600 lbs. | | | 770 | head | \$445,141 |
| 600-700 lbs. | | | 308 | head | \$205,165 |
| Heifer Calves (Total) | | | | | \$1,620,684 |
| Yearling Cattle | | | | | |
| 600-700 lbs. | | | 431 | head | \$280,010 |
| 700-800 lbs. | | | 185 | head | \$131,743 |
| Yearling Cattle (Total) | | | | | \$411,753 |
| Cow-Calf Pairs (Total) | | | 507 | pair | \$481,756 |
| Cull Cows (Total) | | | 435 | head | \$164,539 |
| Cull Bulls (Total) | | | 73 | head | \$61,725 |
| Cattle & Calves (Total) | 172 | 3,081 No. Cows | | | \$4,484,173 |
| HORSES | | | | | |
| Show Horses (Total) | 6 | | 18 | head | \$90,000 |
| Recreation Horses (Total) | 130 | | 225 | head | \$337,500 |
| Horses (Total) | | | | | \$427,500 |
| POULTRY | | | | | |
| ALLEN PARISH | | | | | |

43

ALLEN PARISH

ANIMAL ENTERPRISES PRODUCTION

| Animal | Number of Producers | Units of Production | | Total Production | Units of Measure | Gross Farm Value |
|-------------------------|---------------------|---------------------|-------------|---------------------|---------------------|---------------------|
| POULTRY | | | | | | |
| Edible Eggs (Total) | 250 | 2,500 | No. Hens | 4,000 | doz. eggs sold | \$2,856 |
| Poultry (Total) | | | | | | \$2,856 |
| SHEEP | | | | | | |
| Wool (Total) | | 275 | No. Sheared | 1,650 | cwt. | \$413 |
| Slaughter Lambs (Total) | | | | 225 | head | \$35,156 |
| Feeder Lambs (Total) | | | | 125 | head | \$9,375 |
| Show Lambs (Total) | | | | 15 | head | \$4,500 |
| Stocker Sheep (Total) | | | | 45 | head | \$3,375 |
| Cull Sheep (Total) | | | | 50 | head | \$2,500 |
| Sheep (Total) | 18 | 300 | No.Breeding | | | \$55,319 |
| | | | Ewes | | | |
| GOATS | | | | | | |
| Show Goats (Total) | | | | 12 | head | \$3,000 |
| Slaughter Goats (Total) | | | | 200 | head | \$25,000 |
| Stocker Goats (Total) | | | | 100 | head | \$9,500 |
| Cull Goats (Total) | | | | 15 | head | \$975 |
| Goats (Total) | 12 | 225 | No. Does | | | \$38,475 |
| SWINE | | | | | | |
| Show Pigs (Total) | | | | 125 | head | \$35,000 |
| Feeder Pigs (Total) | | | | 1,440 | head | \$43,200 |
| Slaughter Hogs (Total) | | | | 1,400 | head | \$168,314 |
| Culls (Total) | | | | 15 | head | \$2,400 |
| Swine (Total) | 15 | 100 | No. Sows | | | \$248,914 |
| TOTAL ALL ANIMAL ENTER | PRISES | | | | | \$5,257,236 |

ALLEN PARISH \$59,343,536